| dE/dx estimator 1 |

0.25

0.2

0.15

..........................................

516556
3.032
l 087

Entries
Mean
Std Dev

Enmes
Mean

Std Dev

..........................

Ratio

0.95

=
TT T T T T 11

o

12345678910

dE/dx, harm?2

| dE/dx estimator 2 |

0.3

0.25

0.2

0.15

516556
2.862
1.093

Entries
Mean
Std Dev

516556
2.862

Entries
Mean

1.093

Std Dev

0.95

8 9 10
/dx, trunc40

m Nt

d

=—=— DQM_V0001_R000000001__Global
— DQM V0001_R000000001__Global

__CMSSW_X_Y_Z__ allNODNN

__CMSSW._

X_Y_Z_all

0.08f
0.07
0.06
0.05
0.04
0.03

0.02

I'I"I'1'I'I"I'|'I'I"|'|'r'I'1'I'r'I'1'|'['I'1'I'I‘"1'l'l‘"

0.01F

...........................................
...........................................
...........................................

:| Mean
: |_Std Dev

¢ | Entries
¢ | Mean

CTTITeS TI0JJU

7.425
4.98

516556
7.425

Std Dev 4,981

.........................

OL.L@F.

Rati

uuuluulllll”

0.95%

1h4 1:Inn||||||||”||‘

0

10 20 30 40 50 60 70 80

dE/dx number of measurements

o+

Rati

0.95

0

Sl Rl = o e o o m n

......................................................................

. [ Mean
. |_Std Dev

. | Entries
¢ | Mean
. [ Std Dev

516556
0.3855
0.7044

: ]

516556
0.3855
0.7044

CTToTeS

S I B e N B I i

J
m

Sk B B )

10 20 30 40 50 60 70 80

dE/dx number of measurements with saturation



	Contents
	Page 1


